





KT-IX-14(A)

() =t
{Fresh / Reappear) :
w4558 2.3 53/‘f
327 S
-urd,v/é,mrw.u/d',r?l(ﬂ):.J/c_u:JJ,?w 2
i cr§U e Sty (i) spud i @
Ly L P i Gt W) e b LB Ve KGR )
Al 0SS A ) ?:-u/vud’u—f:v'fbw )

gz efuie (vi)
S STyl G 10mis s/ o Q0SS nee100gl (i)
2 S Qo S () IS, W)
bl P S (M)
Q.2. Write a short answer of any Eight of the following parts. Each part carries 04 marks.
(i) Why area is called derived quantity?
(i) Is it possible that the velocity of an object be in a direction other than the direction of acceleratlon?
(iii)  Why is it dangerous to jump out of moving vehicles?
(ivy  How you determine the centre of gravity of irregular shape body.
v) What is the difference between force of gravity and force of gravitation?
(vi)  Why the efficiency of an engine cannot be 100%?
(vii)  State and explain Hook's law. :
(viii) A ball of weight 100N is moving on a frictionless surface with velocity of 10m/Sce. Compute ifs kinetic energy.
(ix)  What is the basic principle of hydraulic press?
(x) Why we cannot use water instead of mercury in a barometer?
(xij  How heat losses are reduced in a thermos flask?
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Q.3. Attempt any three questions of the following. Each carries of marks.
a) Derive second equation of motion by graphical method. S = vift + % ar
b) A brick falls from the Bab-e-Khyber 15m high. How much time it will take to reach the ground?
Q. 4.a) Define friction and limiting friction. Also describe a advantages and disadvantages of friction?
b) Abody of 80g attached by a string whirls in horizontal circle of radius of 1m. find the speed of the stone
if the tension in the string is 50N?
Q.5 a) Determine the mass of earth by applying law of gravitation.
b) Calculate the value of acceleration due to gravity on the surface of the moon. if the mass of
moon is 7.4.X10*Kg and radius is 1740Km. ) ‘
Q. 6 a) What is meant by latent heat of fusion of a substance? Explain the hidden heat by molecular theory.
b) A person running fever has a temperature of 104 F°What is his temperature in degree centigrade ( C°)?




